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Answer Sheet No.

Ll e LIS L e L )ir, Invigilator Sign.

Fill the relevant bubble against each guestion according to curriculum: Candidate Sign.

|Questlon iy A B c D A | B | c l D |

What s the solution set of 2:% =3x? {g E} 2 {1 1} 3]
e Tt "2 ) 3 ra 4] O O O O
Tfﬁl_f&-rf(zx =3x el . /
Irraticnal and !|Rational and [ Rational and  |Imaginary
Rools of an equation 7x* +8x+1=0are; equal sgual unegual and unequal O O O O
-Lum Unla Tl B 41 =0 &t | a1k P2 Aam L Akt Fu A& 7
If Bx—14y=4x~§Gythenvalue of x:yis: 21:8 2-1 12 1:5 O O O O
e liedf x:y I8 —14y=4x—6y /i '
Partial fractions of X% are of the
(x+1)(x+2)
form: A B A48 | A B C A8 O
Kt +4 2+l x412 ilx—i x+2 ! x+1' x+2 x+1 +x+2 O O O O
I ST/ A s P ) 29t :
(x+1)[x+2}
The shown Venn
diagram represents Bijeclive CNTO
alfan: — INTO function {function function Not a function
"-'{_JJ'/.LFLr Fur i =] SES S, S bt P-4+ O O O O

If o Gare the roots of 23 —6x—4=0then

value of o5 ~a’fris

FJoun S L2 6x-4=0 cv-a,f S -12 -6 6 12 O g O QO
il g +a’

What is the Harmonic mean of 2,4 7 3 8
S b BT RS 2,4 g 'Jg 3 5 g O £ @)
What is the evaluated value of L Sec45°7? 1 )
el E | BB @ |2 © 98
wWnadl 7 Seeds® Uit
In & right triangle projection of hypotenuse
on the base is: Hypotenuse |Base Perpendicular | Zero
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10.

If two circles each of radius 3cmtouch
exiemally, the distance between their

ceniras is:
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1.

What is the racius of
the drawn circle If
mAB = 8em

F Y
gJ‘)JKst:; prdE = 8em
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3cm

dem Scm

6ot
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VWhat is the length of
the tangent 4P to the
circle having
diameter 6em ?
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dcm

Jﬁcm 3d4em

16em

13.

If an arc subiends central angle 60° , then
its corresponding chord subtends central

angle:

Vi 5 ST 60° S AR s

20°

40° 60°

80°

What is the value of

xin  the figurs

drawn?

wWed x2S
s

250

100

50°

1308 200°

260°

15.

What is the length
of diagonal of a
sguare of side Gem
inseribed  in the
circle?
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